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. A Zy (el M 8)
= 20173/ H AL 63| AHAE — r
ALOH 4 04| A}OH o = Al =
o & = Oﬂ(i)ﬁ 2D(OAﬂ)Jﬁ A~B) S
SE L9 = 96,000 96,000 0| (AT )
thatel EM 20| = 15,000,000
A 15,000,000
(MEHEHA)
AEE| oz 30,000,000
ZLEMO|Lt E 10,000,000
ZyAE e E2 25,000,000
Fgotztdlo| & FHAHHS 5L 14,000,000
mASHER A ME ~aEMD|L 2ol 2 2,000,000
~ A 81,000,000
g A 96,000,000
4117
w el g R F - - 0
4118 Z1 91748 (26H) 3,000,000
= wmeol A 1,583,000 1,582,000 1,000 | = ol7H|(54%) 1,580,000,000
g A 1,583,000,000
2,373,000 2,357,000 16,000
4121
Hoa 1,215,000 1,215,000 0| 2 =(67%) 1,215,000,000
4122
A of - - 0 HeMzZ -
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= 20175/ A A= 20163 A= —
04| AHoH F A0 A (;’_':'B) AE Z A
st = (A) (A)
o M = = 970,000 970,000 0| M=th67d) 970,000,000
4124
2 oo A
=] [ 8 o | - - 0
T = [w=]
4125
= A = 24,000 12,000 12,000 | (MEHEHA)
ol A H| ’ ’ ’
2l 20 HXHol=HIO|E) 24,000,000
4126
2l 0 0 0




(Shel:H3)
= = 20173 AAH = 20163791 &= = 2 ]
y . . o4|(%+)%" @(ﬂ)ﬂoﬁ" A -B) M B2 A
4127
N HUEHF 164,000 160,000 4,000 | (CHHZ{THA)
Atx 23 44,000,000
(d=dr)
Aotz @l B & F 120,000,000
st 164,000,000
4200
el 2 g 7,888,284 5,846,181 2,042,103
4210
Al A el o 3,560,334 2,397,352 1,162,982
4211 (MEHm2)
A = = -
. 876,000 200,000 676,000 | ZAEE FAI HEFSA} 2| 876,000,000
(= FCCTVEAL, LED=H wH AL HH 3 HH QI E ZALS)
| 876,000,000
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HEX (e 2
ot = 20173/ A A 20163 Al & = ot
] off &hH FZ 0| ok ;’_‘:'B) o E 7
i} 5t =2 (A) (A)
xf H .
3 g bl 455,870 412,870 43,000 | (HMZHHA)

7| Xt g=2lH] S 20,000,000
A 2j i O Ef = 4=(623,500%12) 7,590,000
UPSE =(440,000%12) 5,280,000
&~ Al 32,870,000
(MEHEHA)
W7 FX| 28] 90,0008 X 12¢ = 1,080,000
SZ7| X2 44| (130H) 25,000,000
UPS(R MM 2l &) R X| 2 44| 6,920,000
StedEE DM Z2IY RXES 25,000,000
MAYEE SHW DTS FAL 60,000,000
MAYEE St FE 2fo| A o 20,000,000
MAYEE Mo =2 30,000,000
MicroSoft CA et 50,000,000
LE= ST ALZH 2 5,000,000
HFO|2 £ Virus T2 ALRH 2t 5,000,000
MO HAR(WERNT ¥ 2ot §) 120,000,000
Ag 2 WY AFE 2], SAD| $2y| 5,000,000
QR AH 92 500,0008 X 12€ 30,000,000
|, oflof 7 =2H| 5,000,000
2oy, F=x7| HES el mH 5,000,000
7|t 30,000,000
~ A 423,000,000
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= = 20173 A= 20162/ H = =
ol & %24 of bl S © M4 E 2
2 5t = (A) (A)
g A 455,870,000
4213
= g 2 a 10,000 10,000 0| (Metm)
W =S e 10,000,000
g A 10,000,000
4214
t_l'l- % J_'l_l_ A LEZH TH A
TR 10,000 10,000 0 |(Mdm )
YRR B 10,000,000
s A 10,000,000
4215
Al M g oy 1,620,800 1,454,000 166,800 | (CHMZYTH )
0| 22l 8 2| 12708 X 13,500,000 162,000,000
2l (eh) 8 b| 12708 X 9,500,000 114,000,000
7| EMAI A S b 50,000,000
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at = 20173 AA T 20163 AT —
off &kl Foj| Lkl ~ o 4 =
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J|EtRX| 252 12709 X 2,500,000 30,000,000

B 356,000,000

HA89%| 256,800,000 X 1274 & 681,600,000

ZH|AlM 84| 222,000,000 X 1270 & 264,000,000

AlM 22| 8 94d| #26,600,000X 1271 319,200,000

EN 1,264,800,000

A 1,620,800,000

4216 (CHEZ4H )
g = 98,500 85,500 13,000 | 2016 M HSH 3| 2& It 9,000,000
WL AlESA M| e 1,500,000
HHA EFIIER S 2,000,000
AT LS SAAL ol 2 2f (&FstEh oA FEAALE ) 2,400,000
ANEXES 9 600,000
N A 15,500,000
(deEHmH)

ol&& st e 23 1,000,000

ATES AR 5,000,000

FoipjAtaiolHE = 20,000,000

2 Dt 1,000,000

SHAl B{AIAl S H S 2 6,000,000
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E | 83,000,000
st A 98,500,000
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2l A& 2dx=E 14,664 14,664 0| (HNZHEHA)
e gr 8 12748 X 500,000 6,000,000
& A 6,000,000
(Ham )
0&& AXtE & 12748 X 260,000 3,120,000
=Ap| HEE 12708 X 462,000 5,544,000
& A 8,664,000
st A 14,664,000
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7| EHAI M Ehald] 474,500 210,318 264,182 | (™ m2)
NEEREEC RS 100,000,000
2~ 100,000,000
CEHEES
SHEHA B|X|8 ® & SE|4 1,500,000X128 10,000,000
M2l 7|02 8 ZZHEF 1,000% +4,0008 *103] 40,000,000
47| MEALEE  130,000X128 1,560,000
skylife AL22 79,000X12% 948,000
of ghatalu] 100,000X12¥ 1,200,000
HogEZE 280,000X128 3,360,000
293 Hau| (A23]) 3,100,000
FEETEHEER FAI 2| 6,000,000
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o = Ty RSl A~B) o
7| gl A XA 30,000,000
M7|AM 7Y RES WA H| 5,000,000
MT| X HE| 5,500,000
LAY HH L S 8,000,000
LrEoiH| 3,000,000
H| 7| AEA & 2] 1,500,000
of LAl ObM ZlCh 18,000,000
MelMERS  HEE O A[AH 75,000,000
ClolB 7 & &AIA 2 H 100,000,000
deldgd Il X A5 HE S 50,000,000
7| Et 12,332,000
A~ A 374,500,000
s 474,500,000

1,581,050 1,445,250 135,800
4221
0f H| u & H| 70,000 57,000 13,000
CESEI=ES)
WE 2l el uhE AkoqH| 5,000,000
Z+E 9| 3 AFRLY} 5,000,000
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A 13,000,000
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WA UetEE 0| 7,000,000




m
{0
o
o

Jo

o

Jo

20173 AAE
of Akl

(A)

> oM
N
[
T

w

30,000,000

10,000,000

10,000,000

57,000,000

70,000,000

5,000

5,000,000

5,000,000

150,000

15,000,000

5,000,000

2,000,000

3,000,000

25,000,000

65,000,000

25,000,000

6,500,000

5,000,000

1,000,000

1,500,000




on (Ehel: & 2l)
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st A 150,000,000
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of 4 & W 33,000 (HEZH2)
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228 AAlol M| 7,000,000
DX U P2 8,000,000
AUMEE AaX ALY AR Y 2eidlol= 6,000,000
DeetEx A ME 22 M0IU X2 1,000,000
SEE AEXNZH ) PO= 5,000,000
JNE =™ S HIOLE M o4 1,000,000
mosty MRS HLHLY HE 9 2,000,000
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2 A 85,000,000
24 A 138,000,000
4226

721,58 805,800 728,400 77,400 | (R T 2)
Mr|eF 1274 13,500,000 162,000,000
zles 1274 4,200,000 50,400,000
NS R 12742 2,100,000 25,200,000
EN 237,600,000

(dEHmHL)
HMI|AER 1274 41,500,000 498,000,000
MBI TAIER 12748 5,850,000 70,200,000
& 7 568,200,000
& A 805,800,000
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& A 72,000 72,000 0| (HMZH2)
mMstez 12748 200,000 2,400,000
i ¥S Rl 12748 905,000 10,860,000
2 A 13,260,000

(M ~)
Mt MBS MALE 12748 2,325,000 27,900,000
fHeF 12748 2,570,000 30,840,000
s A 58,740,000
st A 72,000,000
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= 20173 Al = 20163 AlHA T = 5
A}OH =74 A}OH < A = O
N N - ml(i)ﬁ T%(OAﬂ)Jﬁ (A -B) AE 2 A
4228
H M= a3 262,250 232,250 30,000 | (HHZHEHA)
§490|5| gl st5| 5|H| 16,250,000
ol NEREZ, ZEAM, (Y E 110,000,000
A~ A 126,250,000
(MEHEHA)
ZtE 39| 5| od 3| 30,000,000
KSR AIME StAWMEES 6,000,000
T AM|(H 2, EX]) 10,000,000
ol ngReE 70,000,000
7IEF HAMBE S 20,000,000
A~ A 136,000,000
i A 262,250,000
= (CHAZH ~)
o|2H 7|2 el 5,000,000
7| ERR| 2R 30,000,000
~ A 35,000,000
(MY EHA)
7| EMR| 2R 10,000,000
~ A 10,000,000
st 7 45,000,000
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4230
2z 9 4 2,746,900 2,003,579 743,321
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=3 & My 112,200 86,350 25,850 | (HEZm )
AT EE TALK 22| 2,000,000
AL2l ALRR U F54 Ay 9,000,000
ES | 11,000,000

(A ~)
A 2,000,000
Z A 18,000,000
Bl Al2Er 9 1,200,000
WA =5tHZRIChy| 25,000,000
MX 2| =Ztof et & ZH| 10,000,000
Ofzt ZH|ZF AL A M7 22| X} ofACh 6,000,000
AT Al oHd 2| 2| 11,000,000
stopats| o Ab| 3,000,000
BAM ofokz ¢l 2,000,000
olgre A E F3 Z| 3,000,000
el ue FRMM 0|8R 10,000,000
7| et 10,000,000
~ A 101,200,000
- A 112,200,000
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o|StMSHII ALY REF 10,000,000
DAURZNSH| S 7,200,000
A 817,200,000

(MEHEHA)
MAISHS| X[ 2IH| 120,000,000
MASHEX| UME & IAETIX Y 3,000,000
HRIX} oi<s ZH| 8,000,000
SEA S mA 2 oh st Mot 20,000,000
A~ A 151,000,000
5t 7 968,200,000

ik g o 332,000 29,973 302,027 | (MEAmHA)
MY BB a2 AMA LY 8 209,000,000
HegotmalHA Ay 108,000,000
xelgot gl 9 15,000,000
oy A 332,000,000

2 = ¢ oH 499,000 271,600 227,400 | (CHMZEHA)
CH 2| 2 5= 2lH| 70,000,000

(M E )
I A ZME o 2 A2t 225,000,000
CH 2| 2 5= 2lH| 204,000,000

429,000,000
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on (Ehel: & 2l)
= 20173 AAE 20163 A AL = 7t
A}OH =74 A}OH < AP = 2
2 o = Ty RS (A-B) TEE
=1 A} H| 278,000 97,500 180,500 | (HMZAHA)
k| 2=0{/Ql SHAI 11,000,000
ZIEFLIOIEAIY MMA S 10,000,000
A 21,000,000
(M ~)
k|20 /@l SHAl 35,000,000
HX|olod AF £~04 Al 2,000,000
W7 AL S 30,000,000
50FHSAIH|E 190,000,000
A~ A 257,000,000
=3 A 278,000,000
4238
A o H| - - 0
4239
7] Bt 2 & | 172,000 154,756 17,244 | (CHAZAHA)
Sh}2dH| 1270 X 3,000,000 36,000,000
s A 36,000,000
(M)
WAL A FAE H A 3,000,000
WM 2|23 ZH| 1,000,000
el AFRE AlAM| 3,000,000
AKX @™ Z7OA & F S Pstnt A L] 12,000,000




2. A Zon (el M 8)
= 20173 A& 201634 & = o
off ke F A0l LN A-B &
2 5t = (A) (A)
WS XAHE ZdolZA R Moju Tl 3,000,000
stap 22| (1,257)) 28,000,000
IAUF 2 FiH| & 1,000,000
wmekehb EUZR A o[ Tt HH| 7,000,000
XA LUHE (RIC) £EH2(HBUHSFAR) A= 40,000,000
UX7|ZE Zylold Y M= 17,000,000
7| &t 20,000,000
2 A 136,000,000
st Al 172,000,000
4300
zj v éDHl 11,439,150 11,393,570
4310
T 744,000 714,000
4311

- 700,000 670,000 (Y )
Wil | (embri) 210,000,000
2 7 210,000,000

(M)
mLy o7y 490,000,000
2 A 490,000,000
st A 700,000,000
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a o e Y R (A -B) TEET
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WL o4 mHalH| 11,000,000
5t 7 44,000,000
4320
st M 4 10,695,150 10,679,570 15,580
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w el s g - - 0
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WU R (3HE O 3tel) 2,500,000,000
~ A 2,500,000,000
(M 2)
WL AFEHT (BHEL) 7,000,000,000
~ A 7,000,000,000
Bt A 9,500,000,000
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A8 A Gy 498,000 482,000 16,000 | (HMZHA)
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8 = T e (A8 sEE
st 7 498,000,000
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= = & AR 39,050 39,050 0| (HEAHmHA)
sto| =2 AlALR 30,000,000
A A 30,000,000
(e 2)
=D AIALR 9,050,000
& A 9,050,000
2 Al 39,050,000

4325

st M X Y oH| 522,100 532,940 -10,840 | (HEAEHX)
St KX SHEX| 2 15,000,000
E A 15,000,000
(MEHmE )
SHA ALK A AL 130,000,000
SHAISH AL X[ 212 23,000,000
Edd s X| T H| 20,000,000
Zolg|x| 2 6,000,000
+sto{dl Xl ZF 1,000,000
oz us=H X 1,500,000
Zoyyy T2 57,000,000
HAId AR B 224 61,200,000
FAUX|QE T2 H| 137,400,000
AA| T 2 X| EA| AEI 29 13,000,000
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SXx|25HAF AH| 5,000,000
St Al St gy 3! SHY|X DS 40,000,000
TSt X ad| 12,000,000
a A 507,100,000
st Al 522,100,000
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;{ M A uEr 136,000 125,580 10,420 | (CHHZEH )
ZA|ZH| 9| 10,000,000
b A 10,000,000
GBS
Al OT X | 17,000,000
2=5ho{8l X| £ H| 19,000,000
S 2R mEX| 2 17,000,000
Ao ads T gyl 3,000,000
gots off 2/ SAHEH AH| 50,000,000
7| Et (SR £H| 5) 20,000,000
b A 126,000,000
&t Al 136,000,000
4330
o Al 2 2| H - - 0
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o Al = g - - 0
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y . . o4|(%+)%" @(c;j)ﬂ% ~ -B) M4z 2 A
o Al & - - 0
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4410
X Z ol A - - 0
4411
A 2 ol x - - 0
4420
7| Etu & 9fH| & 30,000 115,000 ~85,000
4421
& 4 30,000 115,000 -85,000 | (HMZEH=)
AEIRL SR vhet § 15,000,000
2 A 15,000,000
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AEIRL SR vhet § 15,000,000
2 A 15,000,000
2 A 30,000,000
4500
£ = 3,700,000 3,700,000 0
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4600
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4610
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of #l  H 600,000 700,000 —-100,000 | oil=|H] 600,000,000
1200
F A 2t 7] B _ _ 0
IS S
1220
I N N N
N =
1221
F 4 % 7t
5 Ao g 0 0 0
1240
7 Bb A& _ _ 0
N £
1242
A E S S
- = 0 0 0
1249
7 Bb A&
x| 5 0 0 0
1260
e o
72l 2 ™o g h - 0




o
10
P
o

= 20173 A = 20163 A 1= —
off AoH Z=Z40f| bk D MEZ A
5t = (A) (A) (A -B)
1262
o o o
73 8o 0 0 0
1263
o o H =
73 8o 0 0 0
1264
o o H &
J = ™ g 0 0 0
1266
Ao ENEEH
7l 3 ® 0 0 0
Al
= 1,753,000 1,622,775 130,225
=
1310
8 o 3
A o ¢ 1,753,000 1,622,775 130,225
S
1311
E x|
of e ) } 0
1312
val =
of el ul ) ) 0
1313
T = = 3 3 0
of 2l
1314 (A mA) oot A E7| XA 72 300,000,000
7 7
DJ ﬁlo,l j 1,000,000 895,775 104,225 | (MBH2)
st 2 WX 7| A e 700,000,000




on (chef: &)
= 20173 AR = = 7t ]
2 &t = Oﬂ(%% ATP | E
~ A 700,000,000
= A 1,000,000,000
1315

7';" H%l 120,000 (T )
AR 8H|Z (2T EQ 03 50,000,000
~ A 50,000,000

(M)
1S #HL I 7| 70,000,000
a A 70,000,000
=3 A 120,000,000

1316 (MEBT)

S e
o o 15,000 AR Y 15,000,000
1317

M T e oyl 618,000 (CHM BT A)
UM 50,000,000
29| A 300,000,000
~ A 350,000,000

(M E2)
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o3 4 198 3,812,525 754,880,000 754,880,000
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2 6,307 6,307
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